
  

MAY 2013 U/ID 46434/UCCD 

Time : Three hours Maximum : 100 marks 

PART A — (10 × 3 = 30 marks) 

Answer any TEN questions. 

All questions carry equal marks. 

1. Explain sinking fund depreciation method. 

 ‰ÌS® {v ÷u´©õÚ •øÓø¯ ÂÍUSP. 

2. Define suspense account. 

 AÚõ©zxU PnUøP ÂÍUSP. 

3. Give formula to calculate average due date and to find the 

amount at 5% interest. 

 \µõ\› •vºÄ |õÒ ©ØÖ® £n® 5% Ámi²hß öPõkUP ÷Ási¯øu 

Põn EuÄ® Áõ´¨£õmkUPøÍ u¸P. 

4. Explain three different bases for H.O. to send the goods to the 

branches. 

 uø»ø© A¾Á»P® QøÍPÐUS ö£õ¸ÒPÒ AÝ¨¦® ‰ßÖ 

öÁÆ÷ÁÖ Ai¨£øhPøÍ TÖP. 

5. What are the ledger accounts opened under stock and debtors 

system? 

 \µUS ©ØÖ® PhÚõÍºPÒ •øÓ°À G¢u ÷£÷µmk PnUSPøÍ u¯õº 

ö\´¯ ÷Ásk®? 

6. Explain sacrificing, gaining and capital ratio. 

 v¯õP® ö\´²®, C»õ£® Aøh²® ©ØÖ® ‰»uÚ \uÃuzøu ÂÁ›. 

7. Explain ABC analysis. What are its advantages? 

 ABC B´Ä Gß£øu ÂÁ›. Auß |ßø©PÒ ¯õøÁ? 
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8. What are the various methods of wage payment? 

 T¼ ö\¾zx® öÁÆ÷ÁÖ •øÓPÒ ¯õøÁ? 

9. On what basis selling and distribution overheads are 

apportioned? 

 G¢u Ai¨£øh°À ÂØ£øÚ ©ØÖ® ÂÛ÷¯õP ÷©ÀÁøµa ö\»Ä 

¤›zuÎUP¨£k®? 

10. Give formula to calculate solvency and profitability ratios. 

 Phß •ÊÁøu²® wºÄ Põq® ©ØÖ® C»õ£ ÷|õUP•ÒÍ 

\uÃuzøu Põq® Áõ´¨£õmøh TÖP. 

11. Explain Break-even analysis. 

 \©Ãu B´øÁ ÂÁ›. 

12. Narrate the advantages of budgetary control. 

 vmh Pmk¨£õmiß |ßø©PøÍ ÂÁ›. 

PART B — (5 × 6 = 30 marks) 

Answer any FIVE questions. 

All questions carry equal marks. 

13. Discuss the errors that affect the agreement of Trial Balance. 

 C¸¨¦a ÷\õuøÚ £mi¯ø» £õvUPUTi¯ ¤øÇPøÍ ÂÍUSP. 

14. A lease is acquired for five years at a cost of Rs. 50,000. The 

annual rent is Rs. 3,000 for each subsequent year it will increase 

by Rs. 800. Compute the annual amount to be written off each 

year. Give journal entries for 3 years. 

 I¢x BskPÐUS ¹. 50,000 öPõkzx J¸ SzuøP ö£Ó¨£mhx. 

Bsk ÁõhøP ¹ 3,000. JÆöÁõ¸ Bsk® ¹. 800 ÁõhøP 

AvP©õS®. JÆöÁõ¸ Bsk GkUP¨£k® öuõøPø¯ PnUQkP. 

‰ßÖ BskPÎÀ •uÀ SÔ¨÷£mk £vÄPøÍ öPõkUPÄ®. 
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15. What are the advantages of perpetual inventory system? 

 {ø»¯õÚ \µUS •øÓ°ß |ßø©PÒ ¯õøÁ? 

16. In a factory standard time allotted to a job is 20 hours and the 

rate is Re. 1 plus D.A. @ 30 paise per hour worked.  The actual 

time taken by a worker is 15 Hours. Calculate the earnings 

under Halsey plan. 

 J¸ öuõÈØ\õø»°À J¸ £oø¯ ö\´¯ 20 ©o ÷|µ® 

AÝ©vUP¨£mh {ø»¯õÚ ÷|µ©õS®. T¼ J¸ ©o ÷|µ ÷Áø»US 

¹. 1 ©ØÖ® £i J¸ ©o ÷|µzvØS 30 ø£\õ. J¸ EøÇ¨£õÎ 

GkzxUöPõsh Esø©¯õÚ ÷|µ® 15 ©o. BÀ] vmhzvß RÌ 

T¼ø¯ PnUQkP. 

17. Calculate break-even point. 

 Rs. 

Sales 6,00,000

Fixed expenses 1,50,000

Variable cost : 

 Direct materials 2,00,000

 Direct labour 1,20,000

Other variable expenses 80,000

 \©Ãu ¦ÒÎø¯ PnUQkP : 

 ¹. 

ÂØ£øÚ 6,00,000

{ø»¯õÚ ö\»ÄPÒ 1,50,000

©õÖ£k® AhUPÂø» 

 ÷|µi ‰»¨ö£õ¸ÒPÒ 2,00,000

 ÷|µi EøÇ¨¦ 1,20,000

¤Ó ÷ÁÖ£k® ö\»ÄPÒ 80,000
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18. Balance sheet as on 31.3.2007. 

Liabilities Rs. Assets Rs. 

Capital 1,50,000 Fixed assets 1,62,000

Reserve 30,000 Stock 22,000

Debentures 20,000 Debtors 51,000

Creditors 49,000 Bank 14,000

 2,49,000  2,49,000

 Find the current ratio and liquidity ratio. 

 C¸¨¦{ø» SÔ¨¦ 31.3.2007 AßÖ. 

ö£õÖ¨¦PÒ ¹. ö\õzxUPÒ ¹. 

‰»uÚ® 1,50,000 {ø»¯õÚ ö\õzxUPÒ 1,62,000 

Põ¨¦ 30,000 \µUS 22,000 

Phß£zvµ[PÒ 20,000 PhÚõÎPÒ 51,000 

PhÜ¢÷uõº 49,000 Á[Q 14,000 

 2,49,000  2,49,000 

 |h¨¦ ©ØÖ® }ºø© ußø©²ÒÍ \uÃuzøu PõsP. 

19. Explain the sources and application of funds. 

 {v Á¸® ÁÈPøÍ²®, ö\»ÃÚ[PøÍ²® ÂÁ›. 

PART C — (4 × 10 = 40 marks) 

Answer any FOUR questions. 

All questions carry equal marks. 

20. How cash flow statement differs from funds flow statement? 

 öµõUP Kmh £mi¯À ©ØÖ® {v Kmh £mi¯À BQ¯ÁØÔØQøh÷¯ 

EÒÍ ÷ÁÖ£õkPÒ ¯õøÁ? 
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21. From the following data calculate : 

 (a) P/V ratio. 

 (b) Profit when sales are Rs. 20,000. 

 (c) New break-even point if selling price is reduced by 20%. 

  Fixed expenses – Rs. 4,000. 

  Break-even sales – Rs. 10000. 

 R÷Ç öPõkUP¨£mh Â£µ[PÎ¼¸¢x PõsP : 

 (A) »õ£ AÍÄ \uÃu® 

 (B) ÂØ£øÚ ¹. 20,000 GÛÀ C»õ£® 

 (C) ÂØ£øÚ Âø» 20 \uÃu® SøÓÄ GÛÀ ¦v¯ \©Ãu ¦ÒÎ. 

 {ø»¯õÚ ö\»ÄPÒ ¹. 4,000, \©Ãu ÂØ£øÚ ¹. 10,000. 

22. Describe various methods of labour remuneration. 

 öÁÆ÷ÁÖ EøÇ¨£õÍº T¼ •øÓø¯ ÂÍUQU TÖP. 

23. A, B, C are partners sharing profits and losses in the ratio of  

5 : 3 : 2 respectively. On 31.3.2006 their balance sheet was as 

follows : 

Liabilities Rs. Assets Rs. 

Creditors 30,000 Furniture 11,000

Bank loan 10,000 Stock 48,000

Capital a/c : Cash 1,000

 A 30,000 P & L a/c 40,000

 B 20,000  

 C 10,000  

 1,00,000  1,00,000

 The bank had a charge on all the assets. Furniture realized  

Rs. 3,000 while the entire stock was sold for Rs. 25,000.  

B’s private estate realized Rs. 6,000; his private creditors were 

Rs. 5,000. C was unable to contribute anything. 

 Prepare realization a/c and partners capital account. 

 A, B ©ØÖ® C TmhõÎPÒ, »õ£ |mhzøu 5 : 3 : 2 ÂQuzvÀ 
£Qº¢x öPõÒÁº. 31.3.2006 AßÖ C¸¨¦{ø» SÔ¨¦ R÷Ç 
öPõkUP¨£mkÒÍx. 

ö£õÖ¨¦PÒ ¹. ö\õzxUPÒ ¹. 

PhÜ¢÷uõº 30,000 ©øÚzxøn ö£õ¸ÒPÒ 11,000 

Á[QUPhß 10,000 \µUS 48,000 
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ö£õÖ¨¦PÒ ¹. ö\õzxUPÒ ¹. 

‰»uÚU P/S : öµõUP® 1,000 

 A 30,000 C»õ£ |mhU P/S 40,000 

 B 20,000   

 C 10,000   

 1,00,000  1,00,000 

 GÀ»õ ö\õzxUPÒ «x® Á[Q°ß ¤i¨¦ EÒÍx. ©øÚzxøn 

ö£õ¸ÒPÒ ÂØ£øÚ¯õÀ ö£ØÓx ¹. 3,000. GÀ»õ \µUS® ¹. 25,000 

ÂØ£øÚ¯õÚx. B&Äøh¯ uÛ¨£mh ö\õzx ¹. 6,000US 

ÂØP¨£mhx. B&Äøh¯ uÛ¨£mh PhÜ¢÷uõº ¹. 5,000. C&G¢u 

Âu £n÷©õ Qøh¯õx 

 ©Ö©v¨¥mk P/S ©ØÖ® TmhõÎPÒ ‰»uÚU PnUøP u¯õº ö\´P. 

24. On 1st January, 2008 X owes Y Rs. 200 

 On 1st February, 2008 X remits cash Rs. 200 

 On 15th March, 2008 Y sold goods to X Rs. 300 due (1.5.2008)  

 On 31st March, 2008 X sands bill in  

 payment (due 1.10.08)  Rs. 200 

 On 30th May, 2008, X purchased goods 

 (due on 31.8.08)   Rs. 1,800 

 Prepare account current to be rendered by Y to X  on 30th June, 

2008. Interest is to be charged at 5% p.a. 

  1.1.2008 AßÖ GUì K´US öPõkUP÷Ási¯x ¹. 200 

 1.2.2008 AßÖ GUì £n® ö\¾zv¯x ¹. 200  

 15.3.2008 AßÖ J´, GUìUS ö£õ¸ÒPÒ ÂØÓx ¹. 300 

 31.3.2008 AßÖ GUì ©õØÖa^mk ‰»® ö\¾zv¯x  

       (1.5.08&À •vºÁøh²®) 

    (•vºÄ |õÒ 1.10.08) ¹. 200 

 30.5.2008 GUì Áõ[Q¯ ö£õ¸ÒPÒ (•vºÄ |õÒ 31.8.08) ¹. 1,800 

 30.6.2008 AßÖ J´ ¦zuPzvÀ GUì]ß |h¨¦U PnUøP u¯õº 

ö\´¯Ä®. Ámi Á¸hzvØS 5 \uÃu® GÚ PnUQhÄ®. 
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25. A head office sends goods to its branch at 20% less than the list 

price. Goods are sold to consumers at cost plus 100%. From the 

following particulars ascertain the profit made at the head office 

and the branch on the wholesale basis. 

 H.O. 

Rs. 

Branch 

Rs. 

Purchases 2,00,000 — 

Goods sent to branch (invoice price) 80,000 — 

Sales 1,70,000 80,000 

 Assume that H.O. is selling goods to consumers at list price. 

 J¸ uø»ø© A¾Á»P®, QøÍUS ö£õ¸ÒPøÍ AÝ¨¦®÷£õx 

£mi¯À (¼ìm) Âø»°¼¸¢x 20 \uÃu® SøÓÁõP AÝ¨¦®. 

ÁõiUøP¯õÍºPÐUS ÂØ£øÚ ö\´²® ÷£õx AhUPÂø» TkuÀ 

100 \uÃu® GÚ ÂØ£øÚ ö\´²®. RÌPsh Â£µ[PÎ¼¸¢x 

uø»ø© A¾Á»P® ©ØÖ® QøÍ BQ¯ÁØÔß »õ£zøu ö©õzu 

ÂØ£øÚ Ai¨£øh°À PõsP. 

 uø»ø© 

A¾Á»P® 

¹. 

QøÍ 

A¾Á»P® 

¹. 

öPõÒ•uÀPÒ 2,00,000 — 

QøÍUS ö£õ¸ÒPÒ AÝ¨¤¯x 

£mi¯À Âø»°À 

 

80,000 

 

— 

ÂØ£øÚ 1,70,000 80,000 

 uø»ø© A¾Á»P® ÁõiUøP¯õÍºPÐUS £mi¯À Âø»°À, 

ÂØ£øÚ ö\´²® GÚ GkzxUöPõÒÍ÷Ásk®. 

——————— 


